T

H./\
;Ei/fi

fhze (R01)

THE4  R1¥EL EHE1935 - /NI EBGRETE (1) HEX Sy TERHTRR -
THEX5 TER YR
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
TERU R
= 1
EHT
= 1
PEARRE T
= 1
BEAA (L) B 1 i e L 2. 5mA i
m3 10
97 RPN
= 1
FEIR R+ it TR 2 2. SmARi
m3 30
FRTALE T
= 1
TR B G- EAIR Y L&)
m3 140
7% LSSy
m3 140
HERE T
= 1
(===
= 1

=N

pi




T

i fEae (AN01)

THE4  R1¥EL EHE1935 - /NI EBGRETE (1) HEX Sy TERHTRR -
THEX5 TER YR
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e

PRI Y TE
m3 100

PRAE D THEEM- TR
m3 130

HREL =
m3 40

BRI L

= 1

BIEAL BUfE - 495mm, Hik FXEHR) 117m
EN 4

7/h-T.

= 1

7= TR TUh- TR TA
= 1

HIIFL (7/8-)
m 56

TUR=SRRA N L - RELST - 7N - T8 o - BRER
EN 7

VAVUINEIN TEAMBUE )7 T0 b 6E, FEREIREL - 24N/

mm2 " ,

MR Z - '
=] 3
g 8




T

i fEae (AN01)

THE4  R1¥EL EHE1935 - /NI EBGRETE (1) HEX Sy TERHTRR -
THEXSy TER YR
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
B3 (7/h-)
Zm3 230
BE(RT
= 1
fiEk L
t 5.4
T DK TR OB - e B A
m2 41
SETFIHERE 1. (RS M HLAT)
= 1
AR ARy ) - kS 18-8-40 (7))
m3 38
-
= 1
EVZAR HERE ORI H )5- b 7o v pERE,
BERE D Y E & 112, 3m, 207 - MR -
18-8-40 (F)F) , #8425 — AR/, av m3 92
53173 PRAHFA RS - £2:SD345 D13
t 0.4
b FUREDFRRE : — AR
m2 117
e LAty b L
#m2 67
-3- 8




T

i fEae (AN01)

THE4  R1¥EL EHE1935 - /NI EBGRETE (1) HEX Sy TERHTRR -
THEXSy TER YR
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
H itk H bR OFEAE : VRS AHEE B Hiub =2
0, F H#ibR=E & : )£ 20mm
m2 17
P s T
= 1
HEE P BUE L T
= 1
2/ - MEIE Y EUE L WG X 5y ARG, TRy
P
m3 2
BRI s FLIBCRERI 7277 W MR, BAERRUR
:5cem > .
AR L AR #2 2 35emPh_E45emAis (AR
m2 6
SR AL T
= 1
I R 20 ) = ik (HEfR)
m3 4
X FRFERI T AT 7 N
m3 1
WALSY R ) 20 ) - gk (JEfR)
m3 4
ALy TR AT 7 Nk
m3 1
- 8




T

i fEae (AN01)

THE4  R1¥EL EHE1935 - /NI EBGRETE (1) HEX Sy TERHTRR -
THEX5 TER YR
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
(o 2
= 1
AR REAE T

= 1

B =R V- BT =8 V- (BEYERL - Co ) - R4

*grrgcgﬂila Ji AU : 2 1mASR, 55T i b
Can
= 1
T &R L

= 1

THHE R TR D, -7 Ay b
m3 880

THEAERK L i T 4. omEA -
m3 2, 300

THHEREE L i TR B 2 2. SmAi
m3 20

THAERmE WL
m3 2, 300

b3 ST BURS : 22 X 1524 X 3048, 1EHX 5y

CRRE - S

m2 239

+n5 R, AR~ B - i
% 229
-5 - 8




1.5

=Ry

H./\
E:/\f‘“\

fhze (R01)

THE4  R1¥EL EHE1935 - /NI EBGRETE (1) HEX Sy TEHEHTRY - SR
THEXSy TER YR
THX 5y - TAE - 85 - A5 Biks HLAZ i (ilAD) e (4m) KR S
{RK T
= 1
IR R ) 2PV, ¢ 1500
m 80
AZIEE P
X 1
SR AR A B
A H 40
BB TR
= 1
%
X 1
@R A
= 1
Y
= 1
TR BB AR S AL S s
5] 1
R 2
t 43
HE( 2
= 1

=N

pi



1.5

Ry ==y

=._/\
1\
1= S DN

fhze (R01)

TH4 | R1¥+E EHE193%5 #-/NI BEIKETLHE (1) TE PR - Y
B Y R
THX sy - TFE - FER - A Bk HAT KR (i) R (4[E) KRS S
RARSE Ly #

+

LR (L)
+

Wi T
&

B E A
+

T
+

— R PR
&

T HHAiS
+

T AR K Ot 5 3 2 iR
+

TH&EGF
&
g R U




